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rie : K[t) mih)t)



• pikvi (dvsi[ : 100 Y) 108
• mh_im uRpidn : 25 - 28 mN /(vGi
• sr[riS uRpidn: 15 - 18 mN /(vGi
• vivN) smy : 1 Y) 10 ai[kTi[br

aispis, jyir[ (dvsn&> tipmin 33 s[. 
Y) ai[C& hi[y Ryir[

• viv[tr p¹Ft) : b[ lien vµc[ 12 e>c aYvi 18 e>c aYvi hiY[Y) Ci>T)n[
• b)yirN dr : 3 Y) 3.5 k)li[/h[. {300 -500 g\im/(vGi}
• (pyt : jm)nn) p\t m&jb 10 -12 (dvsni giL[ 7 Y) 8 (pyt

rie : K[t) mih)t)



• (pyt piN) n) myi<d)t ÄyvAYi hi[e ti[ 
kTi[kT) avAYia[ (pyt aipviY) 
uRpin jLvie rh[S[.

rie : (pyt mih)t)



rie : risiyN)k Kitrn&> p\miN

1 (vFi {16 g&qi} mi>  n)c[ m&jb Kitr m)ks kr) piyimi> vivv&> 

• 18 k)li[ D)a[p)

• 5 k)li[ y&r)yi

• 5 k)li[ pi[TiS

• 4 k)li[ b[nTi[nieT sÃfr fiDi

• 2 k)li[ z)>k slf[T

• 8 k)li[ f[rs slf[T




